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Dvaw the dilation of the polvgon with the given vertices using the given
seale factor k.
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Determine whether the dilation from Figure A 1o Flgure B is a reduction or
an enlargement. Then find its scale faciorn
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tise the given point coordinates to determine whether LBEF bs o diladion
of LN ABC, I so, state the scale factor of the dilation,
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13, Pleture Frame You are gomg to cnlarge a
4-inch by 6-inch photograph 1o the largest
size that can be centered within a Z0-inch by
24-inch picture frame with 2 matte border of
af least 3 inches on all four sides. ‘ 24 in ’
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5, What scale factor shouldeyou use for
the enlargement? ]7 =

e, How wide should the matie border be
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Datevnine the “@@”%ﬂﬁﬂ&?iﬁ?ﬁ of the Hnal image after the given
transformations.
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1. Dilate ABCD using a scale factor of
f= (.25 Reflect the image in the v-axis,
then translate using the rule {x, v} — (x —

Translate JE LMN uging the rule
(,\ V} - {4, 3

Ly 0 Reflect the mage m
the y-axis

8, Ihzm difate using a scale factor of 3.
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